Fig1
R
_- ]- .('* . : ;-_.. F o
r ) )
Fig3 Fig4

0o 0o 0 oo oo

00 00 0000 0d 00 0o
sl [0 [Om |00 i ii i

H h (] (] R1 R2 .0 ...[00 ...[00
M10K01
(55-1) 0o 1 01 [ 1 1 1/2 4 4 24
M10K02 0000 00000
(55-1) 0. 1 01 Ty 01 1 1/2 4 4 2 14
?/5[%?21?03 [0 2 O L [Jan |l 5/8 5/8 4 5] 0 36
M10K04 0000 00000
(55-2) 0. 2 01 T, [ 1 5/8 5/8 4 5 0 5
?/5[;?;?05 0o [ 030 1 4 5, 1 9/16 9/16 5 7 4,
?/5[;)?31?06 HHDD OO [ days Lie Pa 1 9/16  [9/16 5 7 4 1,
?gé%w [0 @ Aas Law P [ 1 9/16 5 9 5
M10K08 0000 00000
(55-4) il A g law P |l 1 9/16 5 9 5
M10K09
(55-5) i 4 4.5 2 7 1 1 9/16 6 12 6 14
M10K10 1000 00000
(55-5) i 4 5., |2 7 1 1 9/16 6 12 6 14
M10K11
(55-6) 0 d Oz PR Bas |l 1 o/8 7 1/2 150 3
M10K12 1000 00000
(55-6) 0. 4 0112 2 14 8 38 1 1 5/8 7 1/2 15 ]
?/5[;?71?3 (0 & 51 P PBas |l 1 5/8 7 1/2 150 8
M10K14 0000 00000
(55-7) 0. 4 015 2 14 8 38 1y 1 5/8 7 1/2 15[ 3




000 00

00 00

- v [ID[ID\D/ 0o aad 0 00 00 DHHD o0 HHDD 0o
O0ANST g ppp o poooomo oo i m e

?;Ié%m 35 ] 20 50 50 [ 70 5 2500 3000 P-3-M
?ﬁéf’lfoz 35 0 » 50 50 70 5 50 [ 3000 P-3-M
?/5[%?2503 500 25 ] 70 75 95 5 2500 2500 P-6-M
?ﬁéfﬁfo“ 15 b5 [ 70 70 85 5 20 2500 P 6-M
?gég% 65 35 ] 90 100 130 10 5500 2500 [,-10-M
?gé?;% 55 30 90 90 110 10 50 0 2500 [,-10-M
e 70 40 95 110 140 10 5500 (3000 P-10-M
?géggos 65 35 95 105 130 10 50 ] 3000 P-10-M
?gé?sfog’ 85 45 115 140 170 15 8000 3000 P-15-M
?gé?;m 80 45 115 130 150 15 100 3000 P-15-M
?géfg“ 100 50 ] 135 150 170 22 8000 3000 P-22-M
?gé?ﬁ%lz 135 22 100 3000 P-22-M
?ﬁ},f’%” 100 500 135 150 170 22 8000 3000 [,-22-M
MI10K14 135 22 100 3000 [,-22-M

(55-7)




